2x X) ® 6X (A) e M8x105
2x (K) @B 250 | 2x (C)=——  MBx60

woe= mo— w glfresia

@25
ZX% ;ﬁ 2% @o——-lvlexgo
2X
v TURIN 3 SEAT BED SWING
 MBxs0
2x (0) &= 2x (2 X Model Number: 16LD
X (P & 6X (E) — M6x50 SAP Code:JT04655401 / JTO4657001 / JT04658103
ASSEMBLY INSTRUCTIONS
4X o 2X @ g M6x38

ZX@ 2X @ s M6x33 Q

2X (£) 2X (F) = M6x16
2X 69 & ox (M)o— Mox5 OK NO
X (@ <mm> | 2x (T)C—mo— =116

2X (R) &g 8X (G) @ ws
2X (8) Crmmc 28X(H) ® ™6

1Xx 60 _~\ | 44X(1) o ps
ox (V) 69 14x(J) © b8
ax W BB 2X (%) ©
x> xOe

2X (2) < 3
2X @A
IMPORTANT!

*® RETAIN FOR FUTURE REFERENCE:
2x @) - READ CAREFULLY!

ASSEMBLY INSTRUCTIONS
Swing seat with steel frame, complete with cushions and canopy.

INSTRUCTIONS FOR USE:

Assembly is required. It is advisable that two people work together when assembling this product.

Once assembled, ensure the seat is placed on stable, level ground. It may only be used by children under
adult supervision.

CONDITION FOR USE OF THE PRODUCT: Domestic use only.

MAINTENANCE AND STORAGE INSTRUCTIONS:
Protect from damp. Store in a dry place for future use. Clean the frame with a damp cloth.

CAUTION!

Never use the product if it is damaged or components are missing! Never attempt to modify the product!

Be careful not to trap fingers during assembly! Do not smoke during use! Do not allow young children to use
unsupervised. Do not put the swing near a heat source e.g. naked flame or heater.

[ISTR. 711 - Rev. 02 - 07-02-2017 |

























W
















GUARANTEE AND SERVICE

Your new Alfresia product comes with a 12 month warranty.

Defects affecting product functionality may be corrected by replacement or repair
provided the product is used and maintained in accordance with the instructions.
This does not apply to damage or wear sustained by improper use of the accessories
or the appliance.

Your statutory rights are not affected.

Documentation, packaging, and product specifications may change without notice.

CUSTOMER SERVICES:

If you wish to return your product for a full refund the item must be unused, in its
original packaging and returned in a sellable condition.

Please contact our Customer Service team within 24 hours who will be able to assist
with your enquiry

If they advise you to return the product to us please pack it carefully and include a
note with your name, address, daytime telephone number and details of the fault.

If the product is still under guarantee please include proof of purchase.

CONTACT US.

Phone: 01706 716 116 (Mon-Fri 9am to 5pm)
Email: support@alfresia.co.uk
Address: Alfresia, Vale Mill (Rochdale) Ltd, Robinson Street, Rochdale, OL16 1TA

ISTR. 711 - Rev. 02 - 07-02-2017 |




